
https://www.geekcert.com/1d0-541.html
2024 Latest geekcert 1D0-541 PDF and VCE dumps Download

 

 

 

1D0-541Q&As

CIW V5 Database Design Specialist

Pass CIW 1D0-541 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/1d0-541.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by CIW Official
Exam Center

 

 

Latest 1D0-541 Dumps | 1D0-541 Study Guide | 1D0-541 Exam Questions                                1 / 3

https://www.geekcert.com/1d0-541.html
https://www.geekcert.com/1d0-541.html
https://www.geekcert.com/1d0-541.html


https://www.geekcert.com/1d0-541.html
2024 Latest geekcert 1D0-541 PDF and VCE dumps Download

QUESTION 1

To create a view, what are the minimal privileges that a user must have for the relations used to make the view? 

A. GRANT 

B. REVOKE 

C. SELECT 

D. CREATE VIEW 

Correct Answer: C 

 

QUESTION 2

Which pair of relational algebraic operations requires union compatibility? 

A. Projection and Cartesian product 

B. Selection and projection 

C. Intersection and difference 

D. Cartesian product and intersection 

Correct Answer: C 

 

QUESTION 3

Which of the following definitions applies to all types of databases? 

A. Data that is stored as tables 

B. Software that manipulates data 

C. Data that is stored in a structured manner 

D. Data records that are stored sequentially in a file 

Correct Answer: C 

 

QUESTION 4

Consider the following relation definition: STUDENT( Student_Number: integer NOT NULL Name: variable length
character string length 20 NOT NULL) Primary Key Student_Number HOUSING( Housing_ID: integer NOT NULL
Student_Number: integer NOT NULL Building: variable length character string length 25 NOT NULL) Primary Key
Housing_ID Foreign Key Student_Number References STUDENT(Student_Number) ON DELETE NO CHECK 
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ON UPDATE 

Which integrity constraint is violated in this relation definition? 

A. Entity integrity 

B. Domain constraint 

C. Referential integrity 

D. Enterprise constraint 

Correct Answer: C 

 

QUESTION 5

A relation for a construction company is shown in the exhibit. Which of the following best defines the relationship
between Cust_ID and Cust_Name? 

A. Cust_Name is the determinant. 

B. Cust_Name is transitively dependent on Cust_ID. 

C. Cust_ID is transitively dependent on Cust_Name. 

D. Cust_Name is functionally dependent on Cust_ID. 

Correct Answer: D 
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